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’,\ [ I tillegg av brek (samme nevner)
StudentName: ExamDate: ExamScore:

2 7 1 3

— 4+ - = — 4+ =

5 5 6 6

é + é = 11 + 11 =

77 2 2

2 3 3 1

7 7 8 8

2 6 4 3

9 9 8 8

5 7 4 7

8 8 9 9

2 7 5 2

Sl = Z1s=

6 6 4 4

2.6 2 1
4 4 3 3

z + é = l + 21 =

9 9 2 2

3 7 I 1

Z 4+ = — 4+ - =

5 5 8 8

3 1 2 3

4+ = — 4+ = =

9 9 6 6
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[ = = I tillegg av brek (samme nevner)
StudentName: ExamDate: ExamScore: _

2 7 9 4 1 3 2
Sti=Z=1- —+Z==2
5 5 5 5 6 6 3
6,5_1_ 4 B R
77 7 7 2 2
2 3 5 3 1 1
4+ == ==
7 7 8 8 2
2 6 8 4 3 7
4= — 4 = _
9 9 9 8 8 8
5 7 3 1 4 7 11
. I
8 8 2 2 9 9 9 9
2 7 3 1 5 2 11 3
—+—-==-=1= —+1-=—=2-
6 6 2 2 4 4 4 4

2 6 2 1

Z 4+ 2= —4+90_ =
14 1 3 3 23 3
z+§—ﬂ—1l 1+21—3
9 9 3 3 2 2
3 7 I 1 1
Z+-=2 ==
5 5 8 8 4
3 1 4 2 3 5
4= 4+ ==
9 9 9 6 6 6
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